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P-\. 1. RodABisattached to a hinge at 4 andito_t
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2. A 7-kg slender rod 4B is riveted to a 5-kg uniform disk. A belt attaches the rim
of the disk to a spring that holds the rod at rest in the position shown. If end A of the rod
is moved 18 mm down and released, determine (a) the period of vibration, and (b) the
maximum velocity of end A.
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3. Determine the natural frequency of the pendulum shown for small oscillations. ;
Consider the rod mass m and the bob to be a sphere of diameter D and mass M.
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d I A cylinder of mass M and radius R is connected to identical springs and rotates

K . l | without friction about O. Determine the natural frequency of small oscillations.
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6. A disc weights 445 N and has a radius of gyration of 0.45 m about its axis of
symmetry. Note that the centre of gravity does not coincide with the geometric centre.
Determine the natural frequency of oscillation. If at the instant that the centre of gravity is
directly below B, the disc is rotating at a speed of 0.01 rad/sec counter- clockwise,
determine the oscillation amplitude.
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